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(2) Generalised excitement.
(3) Emotional instability.

 (4) Fear and anxiety. |
Se 300 TS Tomssst éésﬁb'évavéé

T 0B $o00K @IS

" Part-1: ChildD

One of the" following is not 2
characteristic of  emotional
development during adolescence.

(1) Confusion and uncertainty.

Doweloul SFErNw

3.

(2) Sobe L%.E_‘fgasc
(3) &g edss _
(4) Fawe S0B0% Tes : 4
4,
2. An infant holds a toy 1n1tlally using |
his palm as he grows holds it witk | .
fingers. The development principle. |~
that explains this .. D
(1) Development proceeds. from |
general to specific. :
(2) Development is predictable
(3) Development ’is interrelated.
(4) Development  proceeds in
cephalo cavdai directicn:
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ovelopment and Pedagogy

A clasé VIII student helped her
classmate in learning English. The
transfer of learning that has taken

place is .

(1) Bllateral

(2) Positive

(3) Negative ‘ _

(4) No transfer of -learning
- occured.
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A student studies hard to retain the
‘ttar’, -awarded for her Dbest

- performance in class as she was

told by the teacher that she will
loose the-star if her performance

decreases. The reinforcement that

is makmg the student to study hard
is .

(1) Pu"h"i’shment

(2) Negative reinforcement
(3) -Positive reinforcement

(4)-. Primary reinforcement
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As per urst ‘Deve opment al

5. A boy in your class always looks | 7.
conﬁfsed and indecisive. As a tasks’ are ... |
teacher you would .. ' (1) Educatlonal mile stones
(1) ask him to follow the (2) Social expectations

‘instructions of teachers.
(2) take decision for him.
(3) tell him to approach elders.

(3) Medical normis
(4) Learning interests

(4) provide him guidance to take

appropriate decision. Jolol eoiiTres

1) DmgEoRs Wiy
/Em
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WO,

. As per the somel constructlwstm
‘theory of learnizig’, the role of the

~‘‘eacher in the class room is a /an .
(1) Spectator .

_ (2y-. Demenstrator
(4) won Jgurer BRETormos B8 (3 Instructor

/ | BPGEL S 3R (4) _Facilitator

- ty = _iPopol ITETEE SETH barese’
6. If all the high schools are provided S0 BONE KOS &P B ...
- with sophlstlcated ‘educational .

(2) B SO% JPowe ST,
(3) s DoEaowH 553 DLRDHTHY.
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5 |
technology ... = - ?(,-(1')- L?%?Ci?. %
(1) Teachers can not be “6"}130!;"1 . \'_ 2) @?éﬁe?m _
(2) . Teachers can be veulace'i | /ﬁ) 55555353
. totally. - ) sy
(3) One teacher can handle all | "~ ®
classes. 9. ' The ‘plateau’ in the learning curve

(4) Provision of ‘one teacher for
one class’1s sufficier:t,
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Do FCEBEGI wabeDNge ...
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T TN '

(A) o8 85603 «3 &oraiody 503
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indicates ..., |

(1) Temporary arrest in learning.
(2) Learning is completed.

(3) Learning began.

(4) Increase speed in learning.
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10. The physical factor that effects the
development of an individual.

(1) Light

(2) Temperature
(3) Food

(4)
58 Ao [Herve Brhon TdyY seuse.
(1)
(2)
(3)
(4)

/

11. One of the following is suggested by
NCF-2005, with regard to learning.

Hormones

sed
&P
57850

860

(1) Learning should be in the
* wider social context. -

(2)

Learning should take place
within the class room enly.

3)

acquire the knowledge from
the teacher.

(4) Learning should he teacher
directive. :

10836 egisso Bebsbon, NCF-2005
Sroooel.

Students should be passive to. 'l

t Code

12. A student of class V frequently 14

exhibits temper tantrum. “I:his
indicates that the child has preolem

- relating to this domain.
' (1) Psychomotor

(2) . Cognitive' _
. (3) Conative

(4) Affective
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DoTOs Dol B By He Bormd DeABED
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(3) “Gemg

@
/1

'13. Heterogeneity of the class room
chall be viewed by the teacher as

- G, |
(3)) Burden for teacher.
2) Source for learning.
(3) Hurdle for students’
adjustment.
(4) Need for segregation of

. students for class room
transaction.
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14. Students of class V could not | 16. Identify the correct statement from

understand the lesson as it was not the following :

organised sequentially. - (1) Both teachmg and learning
The factor of learning that are PBSSIVE processes.
effected the understandmg of (2) Teachlng is ‘2n lntua;*tive
students is . process, learning is-a a passive
(1) NEI!:hEr personal nor - process.
environmental. (3) Teaching is a PaSSI\’e process
(2) Personal. ' learning 15 an interactive

' pI‘OCBSS

(4) Both teaching and 1eammg
are interactive processes.

(3) Environmental.

(4) Personal and Environmental.
o BT E006® BEuEOony e v 5o
BIKS ogBren efo NaSBY Aoy,
DT IR (S5rS0 25.026 QLI

2o0m3E° B0 TRy Aotod.

(1) &0 Hedasss Ggid Jots Eroe
ooy, CITBE BEAHS.

oUse.
(1) Gdns o D00 BOSTSY % (20 T w5 ;scgégg BB, egisd
(2) wsgrs . o s DTS B, |

o 3) m&méﬁ : - '{' : (3)'_; éﬂ‘s.s D@bo:smé&g @Eavo, @ﬁsab
(4) 531 o0t BOvTEY : [~ :
. | 4 5 }&) ﬁsqﬁzﬁ BB WP Toky Ky
- _ ‘(1 — t.sesagcs BorBE BidosE.
- 15. A student who has not studied Y A7 A L_L
properly, to cover his faults, blaries

the teacher, saying that the tedcher 17 According to Piaget theory, a child

|~ attrlbutmg hfe to inanimate objects

has not taught propecly, .... is an
example of  this  defense 15 ...
mechanism. - _ (1) Reversibility _
(1) Identification /. - (2)  Object permanence
(2) Projection 3 (3) Animism
(3) Rationalisation . (4) - Organisation
£4) Compensation . SRR SOTTOE DIpodin ES0, IR
2O 5550 LE g 0% spene WITTPE doed ?zh SLTRPOL BT
ERBnEReess . aFO ety Hom S0y
Z‘SE Gl b ¥
PoBER Do s BEWS & ¥ Bono (1) Daﬁsotiﬁé‘:&gé
(1) Lwioed, sume (2) sy
. ) . bi@n&d@s&

3see . '

‘ 2 (3) BN S se
(3) Somsistese s i
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18. A teacher has developed a five p"m'f
scale to know the studenis
preferences towards digital
teaching. The tool developed by the
teacher is ..... ;

(1) Rating scale

(2) Observation sheet

(3) Questionnaire

(4) Check list

Aged  SEED Do (@EEBER
SoooE oLy X e‘ab*q:‘so&»t;: 085 OO
fcbm}bo SRFoDOTES, s éﬂ‘ﬁgwxm

SPFolods Sso

/ 1) Jopbes wmied
(2)  wd%on Bvo
(3) (@0

(4) 2805

19. One of the following should not be

done by the teacher while teaching
a lesson in the classroom. |

(1) Teaching by giving  raosre
importance to intelligents.
(2) Using previous knowledge
‘ and experiences. -

(3) Use of appropriate. methad
and technology.

(4) Continuation ef motivation

continuously.
ol 3E &30S TegoT
Cloonted® Sauxmaia:
1) @Gerochbess EONTENBI anp
Soosl.

b | w - o St
(2) Tl wsstoen
DAToVe T

(3) ehs Lo, dloxns,
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o Koh berﬁ, -j:tnchild
shows respect for authority and
follows the rules during ..... ,

(1) Inter conventional leyel

(2) Pre conventional level

(3) Conventional level ~.

(4) Post conventicnal leves

S5 (5700, Byt Bt Foawd' WY

| RB200 DOREFUR0 Fedia.

(1) So&ss Po@Erais Jrow

) Gy FoRTHCIs TPas)
_ %‘g) Sropmrass S

(4) &85 Fofores fr;o;:

921. Children remember the colours of

rainbow as “VIBGYOR’ using this
technique of memiory. i

(1) " /Clustering

(2}~ Mnemoriics

(3) Paired associated learning.

(4)/ /Rehearsal

84/ 5,06 B4Ese aBErAcd, buws

esssgse - ‘VIBGYOR’ ™
[{SIePLipLL-SISTR L
(1) roodeomr D558esToes

,1'2) ?c&ﬁad_;m
A3) sgetss vony eigsse

(4) bgﬁo‘i:oe:

22. All other abilities being normal,

based on IQ level, the children who
do not fall under ‘Children With
Special Needs’ (CWSN) among the
following. .

(1) Children with 1Q 130 and above.
(2) Children with IQ0-20

(3) Children with IQ 30 - 50

(4) Children with IQ 90- 110

300 TUE ) PP oo FTUmem dod,
LoD sovom @S wstoes Ne bos
(CWSN)* 5323 3052 Bee -

(1) el 130 &9 Mo boe

/2) ®ered 0-20 &g o beew
( L] "

3) wred 30-50 R0gs o boeo
4) @eged 90-110 Bogis e oew
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25.

he
f cognitive development tices a child meets farmers,
23 The stage 0 , rac
ted by Bruner which is rce he uses is .
533;’-33;1 ed by child’s rgBos
1epresentatlon of things and events (1) Technology
in terms of non- -verbal act1v1t1es Self
represents ... _ (2)
(1) Symbohc representation 3) Home
e : ymmunity
(2) Iconic representation stage (4) Com . _—
(3) .Enactive representation L sgdro $EBOOI 6;:; wﬁ.:; :) :;:
stage. ; 207 g B0 MDD, &2 ¢
(4) Information representation 1 e
stage. - Sl ) FesosE
@0 (BOPBOII SoRHEE DT BEpeBne @ -
Bve Bewd TR SO Ua e vy :6:63’{3)”:3-’ e
TS B T ;’:8§553 & veees (3 Lz
() et oot A%, 4 7 ) SaTES
2) O - @S B s o /‘ ;
A h
/((3) BB [ SeTBS 24 .
@ mtew e e gt
) an ompu
24. One of the following with regard to | ~. 2009, the child has the nght to get
learning is more-appropriate : l free education, if his age 1s
(1) emphasis on proceas ard between ...
outcome. : :
- 14 years
(2) ‘emphasis on D"OCEhS and| (1) | 6 L
memorization. . . : (2) 3-12years
e d o I
(3) emphasis on out;cp@ and ) @3} 45413 years
placement. . {7
(4) eniphasis o success in (4) 5-14 years
examinations. _ ~
e RTE-2009 o @sde S $ckdy fio
208706 egEssvis HopoR o SORNG . 3 i
o Voo GO Ayl g Fod Iy, SO5.
(1) @@ SIS SR DL BALEES
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97. ‘Over learning’ leads to ...

(1) Causes disinterest.
(2) Increase in proficiency:
(3) Decrease in learning.
(4) Decrease in memory-
(0 wiigsoo’ B o0 el
1) o3 5DAN00.
/(2} SDeagio DOWIBCD.
(3) ey BiRe0.
(4) )00 B8,

28. To conduét a teaching learning
activity, the teacher has to follow
this sequence .... '

of suitab_le

(a) identification. |
~ strategies and methods.

(b) assessment of learners’
capacities.

(c) evaluation of learning and
replanning. A \

(d) identification of . Jearning

‘ experiences to be provided.

Semggss  HOWRY | ATEPoBeE

&rgrsciiaos Be S0 TR IO,

(a) ©0m oo, wadain BEBIONS
rogotoes.

(b) eprgstoR QTP 22 90T,

(c) esﬁi;:’oa‘ﬂl& FEVEL SIS B Dy
Brlcitved SaShsaen

(d).  KEyoRaebd LHETRETOwR 'y
iabomew. /

(1) dya,h.c

lZJ bo d'.l a! C

¥ /
/ (3) c’ d: da, b
/ (4) a; b’ C, d

ience -%%!?fts?&flgo. rB

29. A teacher who is not well, wants to
take rest, but also thought of
attending the = schoo! as
examinations are approaching. The

conflict that the teacher is
undergoing .....
(T) Approach - Avoidance
(2) Approach - Aporoach
| (3) Avoidance - Approach

(4) Avoidance - Avoidance

2 GG oy oo D DFe8
bosSrostom . TR $OKes GifY Shee
Gon. PETOK FERd SERRERNIoTL.

e METT,00T DoPoges.

A1) enrie- HOG

A @Y g e
| S @) i s
BOSS - HOIS

40, A Headmaster takes decisions all
by himself, this type of leadership ...

(1) Autocratic

(2) . Laizzer faire -

A3) _ Democratic
(4) " “Permissive

BETImess B9oBw T PTG

SRS Talo¥ds ofmo ...
/1) " QYexss

(2) |, Essins {

(3) Sepdngio

(4) edom

o

[8]

L.EM/TM
T‘S‘E”E"?‘IZON Paper-2 Question Paper - Maths & Science - https://tstet.co.in

Scanned by CamScanner



TS.TET 2017 Paper-2 Question Paper - Maths & Science - BapkidtaBido. nB

31-35:

Part 11 : Telugu (Language - D
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Part - 111 : English (Language - ID)

(G160 Read the passage carefully,

Chald payehology is cortainly not a
strong point with most. Indian schools,
Why else would it inflict a double trauma
on a student faving badly in the pre-
boards by banning hor from taking the
exams 7 Often with total results as
ovidonced by veports of student suicides
- the vansup to the board, Now the
Central Board of Secondary Education
(CBSE) has stepped in and put the
brakes on, This is good news for parents
and students, many of whom have had to
live with the threat of the performance -
linked department. While the schools’
logic is that in order to attract talented
students, they need to maintain thei
performance records at high levels, the
assumption that a student faring poorly
the pre-boards will replicate this at the

boards is faulty. Chances are that'the |

student will be spurred to work doubiy
hard. On the other hand, the tbreat of
the department will almost. certainly
impact her/his performance adversely. Of
course, linking pre-boards to the hoards
is only one of the problenis with our
school system.

Now answer the /foliowing ‘questions
choosing the right options:

61. Choose the weord which is most
opposite_1n_meaning of the word

‘spur’/as used inthe passage.

R ONT
;_H sustaln
/ {2} “depress
(3)-._enlarge
(4) “activate

TET-211-EM'TM Sy
TS TET 2017 Paper-2 Question Paper -

62, Choose the word whick is simitar-in
meaning to the word ‘replicate’ us
used in the passage,

(1) repeat
(2) enhance
/.(3) achieve | /|
7 (4) perform

63. Which isthe good news for parents,
according to the passage ?
(1) Schooiz._wiil' provide study
facilities to the poor students.
Schools.  will take the-
responstbility of preparing
students for the board.
Schools will enforce discipline
to ensure higher attendances
of students.
No students can be barred
from the boards without prior
clearance from the CBSE.

64. ' Schools” wanted to enforce
performance-linked department in
order to ....

(1) make students aware that
they would aspire for their all
round development.
attract better

{2

(3

(4)
A
Pd

(2) quality -

/ students.
(3) get regular grant-in-aid from
the education department.
(4) provide better study material

to the students.

65. According to the passage parents
had to live with the threat of ....

1) schools creating traumatic
/é situations for their wards.
(2) falling grades of their wards.‘
(8) linking performance of their
/ wards in pre-boards to the
boards.
(4) not getting their wards
admitted in quality schools.

[.l{/?g\ths & Science - https://tstet.co.in
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(66-70)

Men who are always

tl}eir poverty, complaining
difficulties, whining (67) their

and thinking that _(68) in this world 18
mean and poor, _(69) never get a0y

happiness out of life or
(70) success. -
- 665 A1) groaning
2) muttering
(3) mumbling
(4) grumbling
67. (1) out
/(2) over
(3) about
,%) with
68. (1) their lot
/.(2) a lot
(3) lots
(4) overalot
69. (1) may
}é’,) would
(3) - will
(4; chould
70,,-(1) any
(2)._some
(3) a
(4) the
1-EM/TM

s TETSHE

The following passage
numbered blanks, Jor each .
four alternatives are given. Idcnmfy
the correct option for each blank:

{(66)

has five
plank,

about
of their
tl'O_UbIQ?r

achieve

(14) ;
Paper-2 Question Paper - Maths & Scie

B

Booklet Code

71. Identify the phrase containing
Noun + Noun.

a ray of light
strong light
shed light

a light source

72. Identify the complex sentence from
the following:

(4)

She is not only good in
English but also good at
Maths.

‘We read books but they watch
T.V.

If you search for it in the
school, you will get it.

You go there or they will not
give you.

73. He woke up to hear the sound of

-~ bells

in the distance.

Choose the -right option to fill

in the blank.

(1)
/s
7 (3)

(4)

whistling
clanging
banging

buzzing

nce - https://tstet.co.in
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74. In the activity calleg
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pAS ‘Scale
drawings’ used to develop speaking

skills of students, ....

(1) The students draw the picture

~based on the clues o
- the teacher. B
(2) One student passes . .the

information verbally to the
other from a graph / picture

wi-th a few gaps and the other
tries to fill the gaps.

(3) ‘One student produces a
~ diagram from the o
students’ description
given squared paper.

(4) The students guess what it is,

on a

. /" when the . teacher  draws

something indistinctly on the
blackboard. A

75. Read the parts of a sentences
(@), (b), (c), (d) and (e), which are |

jumbled. |
(@) cashed on their internal rifts.

(b) entering these couniries! for |

commercial gains. .
(c) and ultimately becamie their
rulers. .

(d) the British slowiy stepoed into-
the internal politics of those

countries. _

(e) and over a period of tirne,
gained total control.

Now identify the right order,

(1) (b)), (d), (), (a)s(e).

(2) (d), (b), (c),(a); (e)

(3) (a), (h). (d)}, (e) (z)
(b), (d), (a), (&), (c)

/4)
76. Identify the “on¢ word substitute’

frora the following.

{4 £ omnipresent
X2 ridew”

(3)  participation
(4) successful

other |

TSTET 2017 Paper-2 Question Paper - Maths & Science - tgggﬂé%s&&gm

77. One of the following helps us to get

78.

gl need based.

79,

a bird’S-_ eye view of the hook.
Identify it.

/1) The preface

(2) dJacket
(3) Front page

(4) Blurb

‘Remedial teacking is ...,
(1) morelike a crash Course.,
(2) nothing but re-teaching. .
) sometning where achievement
is expected. {0 be very low.
(4) £ need not be highly specifi¢ and

Ore of the features of Reflective
teaching is .....

iy

Gathering new evidences.

// (;_E)' Predicting
. (3) Clarifying

- A2

81.

[15]

(4) Summarizing

|'80. Listening to public speeches

belongs to .....

(1)  Casual listening
Focussed listening
(3)  Gist listening

(4) Appreciative listening

Another term u-se'd for graphic
organizers in English Language
Teaching is

1) Discourses.
(2)  Information transfer
(3)  Graphic Reading
(4)  Almanacs

Scanned by CamScanner
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82. They ought to be more sensiPle

.........

Choose the correct quegf,mn
tag to complete the gentence:
) can’t they
/g) oughtn’t they
3) shouldn’t they
4) musn’t they

83. (@) Amrita is getting married
~ next month.
(b) Amrita will get married next

month.
Read the statements (o) and () and
choose the right option.
(1) Both (a) and (b) are mcorﬁ?ﬂt
only (a) is correct.
) only (b) is correct. ’
(4) Both (a) and (b) are correct.

84. When Padma stood first in class,
Rekha, out of jealousy, .....

1) praised from the bottom._‘ of
/ her heart. .
(2) ate her heart out.
(3) lost her heart.
/((.4) poured out her heart.
85. 1 expect to get a prize.
- The underlined ‘part of the
sentence is called a Noun phrase
because ...

(1) it is independent.
(2) it is the oiject of the verb

‘expect’
(3) it contains a subject and a
predicate.
) it nualifies the noun.
gs/lzcn:,iiy the correct passive
senience

(1)/ The furniture was broken up
for firewood.

(2) A nice house is had by them,

(3) Y am not fitted by my ghoes.

4) A Gregk goddess is resembeq

/ by Sriya.
/

ooklet Code I B

87. Onc speaks / a strange dialect /

(a) (b)
where / I came from
(c) (d)

The sentence is divided into
four parts labelled as (a), (b),(c) and
(d). "~ Identify ~the pari. of the
sentence which haz an ervor.

(1) (d)
A2) (a)
3) (&)
4) (c)

88. John hates women. Heisa ....

1) ~mercenary

(2Y misogynist
_—3) polygot
- (4> prodigy

| 29. Choose the appropriate reply to an

invitation.
(1) Thanks, I'd love some.
(2) Sorry. I'm afraid I am not free.

(8) I was terribly sorry to hear
that.

/4) That’s very kind of you.
90. This man on TV said that

dinosaurs ...

Choose the later part of the
sentence which is grammatically

correct, -

(1) have been for 250 mllhon.
years.

(2) had been around for

250 million years.
were about 250 million years.

were around for 250 million
years.

3)
/:4).

¢ 16 ) )
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PART IV(a) : Mathematics -

Q1. The number of pairs of natural

Con tent -

94, Let AP t;:e set of all pointsoh a
numbers. whose GCD is 5 and LCM " circle with centre C.and radiis
is 105, 38 e ~>0and B be the set, of «ll points
. on the straight line passing thirough
N = O 0 v, = 105 Yo C. Then n(AnB)=___
e NSRS ey C éoém So8csw ro O SIS DOON S
D 4 ‘ e 5o DeoRe ¥ A vt Covg
Q) 1 \ ,ﬂ,’v _:5;: wpeBp B Dolisye ¥200 B &0
@ 2 S A '
A "1{\‘2 JA‘ (1) = Al
A=’ ..7:3\% . 0 .
&) VAN, y (2) R T2
1 2, B°
82, If log,,2=0301, then the number y{ 9 U"Q@
TS R (o . 2017 N
of digits in the expansion of 5
e . 95, 'Thesum of all three digit numbers
log,, 2 = 0301 wesd 53017 oy, which are divided by 5, leave the
m;;:—:.. NS I sameremainder 4, is .... /®/
{ ;\, £11 | 5.5 ig Sunw 4 53y Bardels Sope A
-‘”!ﬂw\ 08 | it s 5 R
Reg: NS 177,926 A e Y
3) 1409 9, : ! e -
o 4 (2) 1,98,540 \C‘ y/
- /
ol e NS B 99210 e =
(4) 88,963 o \ 3,
s If x= s , then Szt i
2+43 ¥ 96. Let Aand B be any two sets. Then \Y_
& —4 which of the following is false. Y
= g A, B eo 130 Tots 105080 $00 736" 28
- t‘::‘.éaa,);f_)
(1) 4
3 (1) (A-B)uA=B
(2)( 2% X i
/ NN, 2 ()  A-(AnB)=A-B
(3) =243 (€ 3 )
(2 V) ' (A-Bju(AnB)=A
L** -
(a/ )‘“ (A-B)~(B-A)=9¢
& /
| TER2LLEMTM _ 7 _ ' L
r TET 2017 Paper-2 Question Paper - Maths & Science - https://tstet.co.in
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97.- If the linear eciuations

'3x'+by+a=0ahd

ax-2y+12=0 represent the same

straight line, then q2 + p2 = e
3+ by +a=0 woow

ax -2y + 12 =0 ed 35@ 5hosorPed 83

?ﬂumag,a%bzi ..... 3
1 25 |

O
2) 37 - ,,/;\_
(3) 35 o
@w 27 &

98. " If S; is the sum of the first ‘&’ terms
‘of the arithmetic progression g;, as,

g -
as, .....and % = —!{1-2—,- then —m .
: Sn_ n a, l.
.. @y, G, A3, --ee qﬁ_@eSﬁéé‘_t"&ﬁb oosed ]
‘B’ ore Daogses Sy Bebcks M = S
_ . ] S\ 12
n
ek P 2
aﬂ.
2m+1
(1)
2n~1
/ i +1 : /
- 2) Zn+1
2 e
9. ons1
2nr -1
CN .
TET-211-EM/TM [18]

ths & Science - https://tste
If the mean of first ‘n

2

Booklet Code | B
o

natura] -

numbers is n—, thenn =...
© 121

2008883 ‘N’ B Ve oo escMeld S

99.
2
35 esond, = ...,
121 :
L) 144
) 11
(3) 121
@ 12
1%

./If three cains are tossed at a time, -

then the probability of getting
atleast two heads, is ..... o

R TrPon 230 TS, 3080 To

‘é‘é:;w sd :ao_a:':ssa
_/'(‘1), —12- -
(2) %
(3) ‘-58- e
@ I

"
/gm.
5 G -
Y%
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101. Ina APQR, right angled at Q,
PR + QR = 25and PQ = 5.

The valueof tan P is ...,

APQR, 6 Q & vonSirasm S,

= 25 %3005 PQ =5 eond P

P9
mfﬂfg v | 5&
SANGE R -9k 2
© &
T
(2) o4 | QQ’.
%
@ 13 | v 4
: Nf
< (99 G
o RN A
102. If sinf +sin”6 =1, Qj"w
| ' SNAE\N
then 1+ cos®0+cos*8 =... 7y
- | - 250
. K
X 2 Eé‘\ D
sinf +sin’0 =1". i:‘l,)‘,. KQQ"@.
eond 1+ cos 0.+ Cos>d =).)...
_ ,fS',no g\,o,
( v §1nv kuf’,&w
/(1) "’] 07]‘\0 _
' “
P AN
(3)1 "
; av )
4) -0
>< dﬁ/ v N el Zﬁ},
R <

103. Let b, CE {1,2,3,4}.Ifthe equation

2 +bx+¢ =0 has real roots, then
the number of ordered pairs (b, c)

18 ...-

b, ce {12 3 4% x*+bx4e=0
whouserdd THD Barerdeod, (b, ¢) s
- ooy D0 |

(1) 10
@, 7

&

(4)-/9

104. The angle of elevation of the top of
a building.from the foot of a tower
is 30%and the angle of elevation of
the top of the tower from the foot of
the building is 60°. If the tower is

50 meters high, then the height of
' /thé building in metres, is ......

a.é’ ﬁ“;;_;cs TE PO Saod ¥ t;'a‘:é"“@‘q'z) ,
&8 Sraon 30° woBoo FRoRNEHN ol
B e <) &t Srasas 60°% Fpuan qoy,

Q89 50 oty wowsd, gRosEn Y, 8
(Do0s56°) ...

\

50 -
1 —_—
» -
@) .50

50

3 e

@ 3
.\tﬂ 5043

TET2AT-BY/AMiper-2 Question Papef1Waths & Science - https://tstet.co.in

Scanned by CamScanner



_—

TS TET 2017 Paper-2 Question Paper - Maths & Science - httpsBagldet§:ee .

a right 108. A sum of Rs, 12,5600 amountg
' Rs. 15,500 in 4 years at th”e. rate o
simple interest. The rete Ol tuiergy
19 .o
Fese 948 4 sostioe o3
5. 12,500 esdes 80,.15,500 208

105. 'ljhe curved surface area /&1 5,
cireular eylinder of base 184S "

15 obtained by multiplying it8
volume by y P

PITRG T o e Aol WECC
¥ 0 -~
TR Jorsos A oo T )

TOroWHONS 988 b o /1\,.5
2 L’* o T
; \/()/ .;g . :/ _ \\W,'G::/é 0 \
(2) 2r k ® K‘U/\r/é%fb
3 2 ?

(4) ; : B | 109. The diagonal of a rectangle is 17 em
r o

and its. area is 120 c¢m?. The

b o ‘ nerimeter of the rectangle is ...
106. If the areas of three adjacent faces of - (1) |

: 46 cm

a cuboid are A;, A,, A,, then its | (2), 23cm w F
volume is \ ' (3) 32cm 0’47_’;/(

e Boise Gy, eisis) Basare Pedee Aj, 1 (4 30cm- ¥

Ay, A, vwﬁ;léb POERER0 “(/:\ ! 2 By Bt o, 5gan 17 Dok

(1) Bo8okw 82 Pregio 120 B, 0.2, woud

3 2 ¢
il 2,. 3) | VSN«»_--J') 7 B8 BBesEy BxaFen o
e R v NN A I S AL e
| 2433 ,‘:"»m'k' ()7 4600, :
- (3) L

v, ' !
AjAA, o &y 23 ?oc:-.é'.’b.‘b"}w) o
@) (AAA) X 2% a5 0P
(AjA,A, ™! ' B e
30 0.2, "

107. Ahemisphereandacorehaveéequal [K, S 4y, \L@’ ’
bases. If the_lr h’elgl'fts are also equal, 10. In a scho ratio of the number
then the retio of their curved surfaces of boys to Sirls is 7 : 4. If there are
will be' ... g}y 140 girls, the total number of
students in the school is ...

&8 PeTodt wesd, wdse o 74

PPN FoENe YEAY et Sobata
¥k Jgew HAIB, T H(Eve T

f33°a/§ FsTest 140 9008 dSevod Iy e -
S 31 o> 4 REBR0 Wowy
) \2/1 ‘ T W, g 5
3)53:1 M 24 67 %

(3) 285 W ¥
) 2:1 (4) 385
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i 111. If the points A(1, —2) B(3. 1) ang 113. If AD, BE are medians of AA T
2 ] H . ? " AA.ESC al
i . C(-5, 2) are vertices of a triangle, F is a point on AC such that D?ig

3 then the point of intersection of th ' llel to BE, then CF : A( =

'[- side BC and the bisector of the anglg peTR B O AN

-"P ZBAC 1 £ - : % A q BC 65 AD’ BE e BaXs M'{ﬁé .am‘

A(1=."2)’ B(3, 1) 3'3;::605:.:' C(-5,.2) : ma@"'BE = Saredtiwm DR SO
ol "R F . AN

; Dotsopew 2.8, (@0 Ipoond, BC st AC 508 Dot F woxd, CF: AC £ .

oo ZBAC s SBoBoEs dpe poxs " I(Il)- 3:4 t”;(

. -. 9

5‘ 1 4 ; - . 1:4
| | 3 - 4) 23

Mzi]
N8N8

114. Ifthe slope of the straight line -

[

i

'E 1 4\ : o joining the points (- cos 0, sin 0)
} (3) (ga _E) LB LS [ and (cos b, —sin 0) is

i‘ . : L e - &£ 20 2 -9

| 4.' [_1 % | . cgﬂ:—cos_ﬂsm 0 + sin“06
@) g .3 1

|

';r ® e .
L<B<— =
L | 2], then cos O

- 112.Jdf AP and AQ are tétﬁgénts ArAwWIL

from an external point A to acirele |- (- cos 6, sin 6) w0k (cos 6, — sin 6)
with centre C and radius 8 cm an - Dotopos 50D BEUly ook, T
AC=17cm,then AP +AQ= ... | L -
' ) : cos” 0 + cos*0 5in% @ + sin?6
(1) 36cm. i _
B] . e, _(zigbﬁ 0<0 o ) e00d, €os 0 = ...
(3) 25cm. . . T 2
(4) 30cm. Oy e 1) 1
C onoe 8 Zodu. wrgiw Ko 9ol : e
; oo Avoed Add tdaw AR, AQ, (2) J2
!' AC = 17 2.0y wonid AP + AQ = ...
J3
(1) {36 oo 37 =
(D, N5 »oa _
! 1
| (3)-_ 25 36, - (4) 5
Uq2) 0mo.te.
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H ‘ne
curriculum of pathematicd & :
secondary level in Telangant 8tale

15 .

(1) Concentric and Spival.
 (2)  Topical

(3) Concentric

(4) Spiral

Sovomm r..'ﬂ*ég:::SG VKO Jow Neds

AT erONE whoeDod 150

(1) S53ois wodakn %0y

/\(2) EQQE
: (3) bﬁo@
(4) w9

 116. “The pupil categorises polynomials
on the basis of their degree”. The |
academic standard achieved by the

student falls under .....
(1) Connectlion

(2) Problem selving
(3) - Reasoning proof

(4) Comnuinication

¢ QEEg® EEmSEURN U/ R0EIH0 $oh0od

5650000 qels Davgd
;psg::sa*nw
( l) [T el e s o
(2)  BaaTy AEN
(3) - euraw - SN
/4 ) LnRehee
// -

Methodology

PHod%

[22]

18 v
(1)
(2)
(3)
(4)

enliae DOYSUINN RGN KoY Sy

117. The evaluation/tool “vhit anse
students, acadende periarinameg

Dingnoptie test
Aptitide test
[italligonce tedl

Achievemont test

Borornoll e

y)
(2)

(1)
(2)
(3)
(4)

BVaon avor Jugtutie Hodu doene
o tyEhatio wiond 8 Baoay Mr@hee

(1)
(2)

3)
(4)

&% RENVIIINERY
Wae ey g QN
(e bot- 1Y

A& AN,

118. Learning by doing and learning by
living are the main principles of ...

Analytical method
Heuristic method
Laboratory method

Project method

NRe W50
Uﬁéﬁf‘! ;.\.taa
(ERVORT W30

@ {1} J::J 5\30
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119. The teaching Programme in which
student participates actively for self

learning at his own pace is

(D
(2)
3)
(4)

Micro teaching
Projects
Programmed learnin g

Laboratory work

R RReE Moo wiifite o o
WL PE WK DS T dose

(1)
(2)
(3)

/

(4)

oy S
Koo
SUTERIANYG Wgigvo

BERPRTE B
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120. The main aim of recapitulation

/

/

Herbartian

A

model Jesson

of

planning iS vase

(1)
(2)

3)
(4)

to supervise the learner,

to know the extent of
objectives of the lesson
achieved.

to presen’ the concept.

to assess the pre-requisite
knowledage.

IonQAS DBREPY SRS’ oo,
Dok, Boops EBIF

(12

}2)

)

(23)

()

BN S Iouto

oo DY, oPes SRO®
FOoBedAsS BeoteSow
P985 D5BeBEo
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Scanned by CamScanner

— ]



™

TS TET 2017 Paper-2.Question Paper - Maths & Science - htth eI 285H

121. These

gcience - Content

microscopie

: are  called
policeman,
(1) Monocytes
(2) Erythrocytes
(3) Blood platelets
(4) Neutrophils
SR RERILE FOFAG m besde.
(1) o L&Ew :
(2) I syseres
(3) &y $edses

:1:0"5&59‘..:5‘3

122. Choose the correct pair of short
term crop.

(1)
(2)
(3)
(4)

Red gram-Jowar.
Jowar-Green gram.
Green gram-Black gram.
Black gram-Red gram.

25eyTrOE Bowe ¥ON mdy Kodoned,

(1) st - &%,
\)2,/:::3_;— pite

(3)
(4)

RO - AoroR
AR - 50

123. Identify the odd disease based on
the group of causative agent.

(1)
(2)
(3)
(4)

Swine-fiu
Typhoid
Cholera
Teberculosis

Qe B, ke Getem DA
_,..r{«" "‘.’s‘ow

N

L) E-‘W D
9) - pen*
(B
(4) TP

gr-21i-EMT™

(1)

(2)

(3)

(4)

(D

2)

(3)

i

125. Animal with sharp incisors ...

(24]

- structural

t Code

B|

124, FFind the incorrect statcinent.

Heérbivorea / occupy.  first
trophic level in a food chain.
Abiotic and biotic factors are.

components  of
ecosystem.

Detritus food ‘chain starts
from lhitten

‘Aphids’ accupy “2nd trophic
level” in the food chain.

.30"'"0 ) 1539““- h<te ‘o...\cr..

WiEYy ﬁ‘m.&:d‘:‘_ Fyamitioos Doy

:.’:‘:1.-"7.3;@{5* GowraN,

39 W0y 28 TUTw, bl BNy
0%, ATETBY wRSPRT . |

WETHE LRy Mooty ity

SorRddy
ErPEoENIYHBIeA.

(8:.35) wood

eIy Foood® hEwy Doun
i‘ﬁm‘@;w‘é‘aom.

(1) Dog
(2) Lion
(3) Rat
(4) Cat
SERN WesTen (incisors) Yo medey
(1) ;”33;
/(2) .ac:hc
(3) Sy
(4) »®
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126. l:.dum‘ 18 1‘011.\tod with ... 129, Match the animalg with  their
() l.q wphatie systom oxcretory products and chonhse the
(2)  Digestive svstom correct answer,

. TR 1 .
@) Respiratory system [ Uren (A) Fredhwater Sshy
(1)  Nervous system

: {I. Uricacid (B) Frog
e U g Newede § .
VYT ER0we B0 onin (C)
(1) S S 111, Amm Snake
[
g

(2)  oF 2y () I-A, II-B,/1IC

7 ® "“*Mw @) 1-B, I1-C, II-A
A %4 | 9 LA, H-C Hlb
(4) w&;‘\%\ (: icy

! (4) I_B’ :I-A, Iyl‘c
127. The cell-organelle which helps in
manufacturing of lipids ...,
(1) Mitochondrion
(2)  Golgi complex

Epess T8 WYY Yool sudd, seds
:buill“m:}.} KJQOE;’.:&.

(3) Chloroplast : I~aurdaie’  (A) oo S
- @) Smooth endoplasmic I/ oorieie  (B) =3
Reticulum. a8 [IEcadpate () s
ST B ko | ) LA, ILB, I
(D 3&*‘-5{33‘3@@35 e I ) 4y L, II‘C
. e 5 | (2) I-B, II-C, III-A
/2) ™D Nodde | .
3) wosbesy @ LA, ILC, LB,
50 e | /4) I-B, II-A, W-C'

128. The stage in mitosis,in which | 10 yocer reaches top of the tall trees
chromosomes are zligned at the ue to the phenomenon ...
equatorial plane of the cell, - (1) . Guttation
(1) Telophase | (2) Transpiration
(2) Frop hfilse (38) Respiration
(3) Metephase .

(4) Ansaphase (4) Photosynthesis

susngendt Sams i SRSy e J%?& DTest WA el Ui @dch o
sostis EX Jsovoed.

(1)/ woby&x ) (1) ol

(D o8 B (2) - X

Thada

/‘_3» e =R /(3)
" (4) NSen s%
; (4)  Ioeve, socmmndon
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184. We feel warm after finishing oy

131. Find the time period of the WaVE
whose frequency is 400 Hz.

400 :,.§§Q sy 10 Bl (TR

SO SRoised. |

(1) 0.0044 s Y50 o‘fy

(2) 0.0033 s < 7\

(3) 0.0011s e
M 0.0025 s |

-132. This is a modified stem.
(1) Sweet potato

(2). Carrot
(3) Radish"
(4) Potato

38 ;b Dolb oo
(1) Sonssoes
@ =8

(3) woogen

/@ ERTT L et e

-133. Smooth muscles are fourd in....

(1) Alimentary ¢anal

(2) Arm
(3) Leg
(4) Heart

sty SeEEe Ho 18 grtio
. <
PR
@I\

(3) T

v
/(ﬁ) =]

bath under the shower or2 hot day,
is due to ....

(1) Freezing

(2) Humidity

(3) Condensation ,

(4) Evaporation |

300 Frod® oo A oy ¥080 iy
TR RIS CTEL: SR sl

(1) Seoussde

(2) wg»
(3) roldxrseso
(1 shyese

t &

135. Which of the following friction has

self adjusting force ?
(1) Rolling friction
(2) Fluid friction
(3) - Static friction
(4) Sliding friction
808 TRS® Syve MiigErw Boc’ ¥OND Wo¥n

~

(1) &g $oges

(2) S

\,La')/{gsas Bagges

(4) erdocss o5

136. The minimum ‘distance from real

object to a real image in a concave
‘mirror is ...,

VT SGhmod® A3, de BODeerl
&g N [ arde

“1) 0o

2 f ( \
@B 2f

4) f/2

ﬁg;.zulEM-TM .
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137. In the electro magnatie spectrum,

which of the followi
more wavelength jg lng rays have

(1) Radio-waveg
(2) Gamma-rays
(8) IR-rays

(4) X-rays

DB BB WYseod
5OA% eves '

D

SAD> Aewes

(2)  mne 3vemes
(3) worsors ABewens
(4) X-38emen

138. Arrange the following in the
- increasing order of their pH value.

(a) gastric fluid
(b) milk of Magnesia%t.'_'l :'J
(c) blood
‘ (d) lemon juice
200 6® pH Deon D04 E0a
(a) sy @50
(b) 2o&, &b Wi
.(e) &5
(d) aEsgon
v({) 2,q;¢,b
2) ‘a,b,d ¢
8). a,d; ke
(4)

a,c, b, d

TET-211-EM/TM

139.

We get Silver metal (Ag) in the form
of precipitation by the reaction of
dicyanUE}fGenmte iong with this
powder, 18 ...

7inc dust

(1) ) e

(2) Aluminium dust P
O

(3) Copper dugt WS o~

(4) Magnesium dust

2 pmQ@s  edPIus . 3ayed

wEsToed| Ag &%ty widn srvodt
oo,

o
\gQ/ 205 BIYo o
(2) Q&@‘me’l‘bc wrgo M
Vi
X8) /on worge
| 4y Dohjagio Brgo
(
|
)
II 1490, Element with atomic number 15

[27] |
- TS TET 2017 Paper-2 Question Paper - Maths & Science - https://tstet.co.in

and mass number 31 is present
751 RO

(1)

Group 5 and Period 4
(2) Group 15 and Period 4
(3) Group 15 and Period 3
(4) Group 5 and Period 3
BN Bopg 15 Wwoddie HEEI Moy 4\
31 m Ko Saroto Jsu o “o
(1) 5% e, 4o boanE ~ o W

r;‘\

(2) 159 gomp, 4% beawd N
(@) 183 vy, 3% boows

J‘)/- 0% Yy, 3 LoanE
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143. Power supply : ‘
electric pole will be interru pted due

to formation of the mef'al oxide
Jayer on the electric wire,
metal oxide i8 ....

141. Find the | conductﬂl‘
whih ength of the

. d o
1S movi ith 4 5. ee g
0mfs i Cype direction

Perpendicular to the direCtim}I‘ qg

magnetic field of jnduction 06 '1l

1t induces an emf of 6V between e
- ends of the conductor

(1) 12m
(2)° 0.6m
@ 6 m

(4) 1m

0.6T edom ot edmur FolBd KOAD
B9 eovor 10 Do/ Ko8 KsoepBoty
T O Do wasy BV sl weo
(©Bo2ad es Bir Sesigyso sesied.

o

(1)
(2)
(3)
(4)

1)

to our home from the

The

None of these.
Electric wire damages.
Electric wire breaks up.

Workss as elzctrical insulator.

Dol et BoSE Ky BUMs BUSe B DLl
Sl E%mes3 6306 DGR

D8 .

(1) 123, T

\/ !
(2) 06%. - i
3) 6.

)

142. The lens which can form Ire'al and |

1 2.

virtual images in air, is ....

(1) Biconvex

(2) Plano concave

(3) Plano convex

(4) Biconcave

& De 38y WP EGlerresy RIREY
es¥iaoo '

(2)/ agoeersns

(2) oo gy

[Jwbe Loy

BT

TET211-EM/T™

CR\ 20058 B desptees.

L B awod b daSssca.
| : §1
/(4) DS AP Brtsteed.

144. The boiling point of Argon is ....

SO T, (DS Fs0

/(1) "=193°C
(2)

~-183°C
@) -186°C
4) -196°C

(28]
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te
Audio- VISual m nt with regards to

1
(1) cTahrf!:l EEL;: Presenting which
oy €en with un-aided

(2) They motivate
(3) They are not a

(4) They speed up learning.

Q¥ Bam rS{L‘;T)J‘S’a.aGnm;o..a tooaaoQoD
S0,

(1) Dpede sods BPEDD 3D w:ac.-«oé.
Ersvtorom.

(2) =2 amsogo:o: ©8bFaw,

3) 3D Vorfo Bood wsaredI @ |
BFEERS Lonom dosy.

(4) 3D wgasorR, SMsoto Jrown:

146. Formative evaluation is done.....

(1) Before admission into “a
course.
(2) ‘Before starting he
instruction.
(3) During the process of
" instruction. |
(4) After the completic: of the
term.

onET Oy et E0D Bhako
(1) ShxyE® B, %0 oot

(2) Sigmin rofotneD Sooly
(9) e st (dood®

;35& w‘gw:b ac‘ja

S

/.(3)
(4)

Methodology

147, When a student stupped - using

plastic covers after listening to the
lesson ‘Synthetic fibyes "~ ang
plastics’, the objective achievad
18 s

(1) Organisation

(2) Responding

(3) Valuing

(4) Characterisation

:aw:ﬁaga:sa¢ow:a5,, .f}v.:m;sa,d;;, o) .

\<1) | BgnINo
(2) - @oress
(3} Heonsetio

(1) Besso

» - g '
| '143. This is not a suitable role for a

science teacher.

(1) Counsellor

(2) ‘Facilitator

(3) Financer

(4) Manager

30 DS TG SO0 BAY G T,
(1) =aeb '

(2) dOEE

PN

dnb
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149,

: D). Thss kits are designed for

C VR Ty SNe Beweled (308 TRE

teachers.

(@) These kitg act like small
laboratories,

(3) Thege kits are useful in
SchODlS where there are no
laboratories.

._(4) These kits are designed to|

carry anywhere easily.

2037,

B 2w adpoive B
EPIroBoNedsd.

/(_1)
) B Sdser 023y EaINFTocsT
 B0BFo. _
@

TEI

| EArETees 80 s By Sares
GBolo¥omr &ouraw, '

(4)  OHEIT Do, A8 23
RO B rtd%en 1 Fodouedng.

(911-EM/T

Y

(301

150. We can not say exactly that

construction of knowiedge takey
place in the situation.

(1) If the student applied the

learned concepts “in Dey,

situations.

(2) If the student repcrted
concent taught by the teache,
either/in the class or in th,
examination, 'without any
Taisiakes.

(3) |If the student invents ney

things | by applying hj
previous experience.

4) If the student defined the
concepts by discussing in peer
group and with his previgys
experience.

G1 (50D :\’:céda:mé* 2T :cvér;:ga; 2030X0

SohBomT 5B,

(1) A0 wPoDT - PHIeBs  IFES

RetTyes® DAAPACIIDLD.

AP SRS XA

TG Joveed  Eres Bl

BONBE, 3055° IRBeu .

@) 20 Y TROLTY DIBFACD, SIS
VAP D3y Bonsd.

4) 28 wrowewsd, dadm,
Boseed  B0p0 prsvew
- DI,
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